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All Candidates' performance across questions

Question Title

Mean Max Mark

Attempt %

1a

1494 3 1 4

99.8

Question

A LEVEL PSYCHOLOGY UNIT 4 1294-U4

Facility Factor %

80

90 100



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Sticky Note

Correlation/relationship and ordinal level both identified therefore 2 marks.




Sticky Note

Answer referring to statistical level not correlation coefficient therefore incorrect. 




Sticky Note

Answer states results are insignificant this is wrong the results are significant and the hypothesis is supported.
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Sticky Note

Correlation/relationship and ordinal level identified therefore full marks.




Sticky Note

Answer referring to statistical level not correlation coefficient therefore incorrect.





Sticky Note

Answer states results are insignificant this is wrong the results are significant and the hypothesis is supported.
















4,

Following on from this research the psychologist carried out a study to see if there was
a relationship between exposure to the media and body image.

(@)

(b)

(c)

A Spearman rank order correlation coefficient test was used to analyse this data. Explain
why this was appropriate for this study. 2]

The statistical test gave a correlation of 0.915. Explain what this means. [2]

The observed value was above the critical value rs 0.61 at the 0.05 level of significance.
State what the result tells us about the hypothesis. [2]
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A psychologist was interested in how primary school children interact with each other

at playtime. The psychologist wanted to see the type of play they engaged in and
whether both genders interacted with each other. Describe how a psychologist could

investigate this topic using a non-participant observation.

In your answer you could include:
The setting.

The sample.
Operationalisation.

Checking reliability.

Checking validity.

Event sampling.

[15]

Time sampling.

Credit could be given for:

The sampling method used and how it was carried out.
A description of the observational environment.
A description of the measuring tools.

A description of the procedure carried out.
Inter-rater reliability.

Face validity.

Content validity.

Any instruction given, e.g. ethical guidelines.
Type of data collected.

Any other appropriate material.

Marks

AO2

13-15

Thorough description which includes the design and all key elements.

Effective use of terminology.
The structure is logical, allowing replication.
It would be very easy to carry out the investigation.

9-12

Reasonable description which includes the key elements.
Good use of terminology.

The structure is mostly logical allowing replication.

It would be fairly easy to carry out the investigation.

5-8

Basic description which may lack key elements.

There is some use of appropriate terminology.

There is reasonable structure but replication may not be possible.
Not always clear how to carry out investigation.

1-4

Superficial description which lacks key elements.
There is very little use of appropriate terminology.
It is not possible to carry out the investigation.

Non-experimental method used.
Inappropriate answer given.
No response attempted.

Total 30

1290U40-1 WJEC GCE Psychology A2 Unit 4 MS Summer 2017/JF

© WJEC CBAC Ltd.
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Sticky Note

Reasonable description which includes key elements, mostly logical allowing for replication. Although some important information omitted e.g. when did observation take place time of day, would an equal number of boys/girls be observed, more than one observer used would they both be together, how would ethical issues be dealt with etc.
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Sticky Note

Reasonable description which includes key elements, mostly logical allowing for replication. Ethical issues clearly highlighted and how they would be dealt with clearly explained. Some of the answer refers to an experiment not an observation this receives no credit. Also some important information omitted e.g. when did observation take place time of day, would an equal number of boys/girls be observed, more than one observer used would they both be together. 
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Sticky Note

Thorough description given including design, the structure is logical allowing for full replication, time of observation and sample used clearly identified and there is effective use of terminology e.g. inter-rater. Ethical issues clearly highlighted and how they would be dealt with clearly explained therefore top band. Some of the answer refers to an experiment not an observation this receives no credit.

















A psychologist was interested in how primary school children interact with each other at playtime.
The psychologist wanted to see the type of play they engaged in and whether both genders
interacted with each other. Describe how a psychologist could investigate this using a non-
participant observation. [15]

In your answer you could include:

The setting

The sample
Operationalisation
Checking reliability
Checking validity
Event/Time sampling
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GCE A2 PSYCHOLOGY - UNIT 4

SUMMER 2017 MARK SCHEME

SECTION A

You should answer all the questions in this section with reference to the personal
investigations carried out in your study of psychology.

INVESTIGATION ONE
An experiment on bilingualism

1. (a) 0] State the alternative/experimental hypothesis for your experiment.

[2]

Exemplar hypothesis:

e People who are bilingual have better memory of words than
people who are not bilingual.

o People who are bilingual are better at cognitive tasks than
people who are not bilingual.

e People who are bilingual have better perception than people who
are not bilingual.

e Any appropriate hypothesis.

Marks AO1
2 ¢ Full alternative hypothesis stated with both variables
identified (IV and DV).
1 e Alternative hypothesis stated with only one variable
clearly identified or confused
0 o Neither variable clearly identified.
(i) Explain how the dependent variable was operationalised. [2]

Credit could be given for:

e Use of ten words with no connection to each other.
e Words chosen randomly from list of fifty.

o List of words of equal length used.

e Any other appropriate explanation.

[Answer will depend on actual hypothesis given in part (a)]

Marks

AO1

2

Full explanation of how dependent variable was
operationalised.

1

Partial explanation of how dependent variable was
operationalised.

Inappropriate answer given.
No response attempted.

© WJEC CBAC Ltd.
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Sticky Note

Hypothesis stated both variables identified IV and DV (weak 2).




Sticky Note

Not stating how DV was operationalised e.g. how were the BOP IT scores measured? The answer seems to refer to just the procedure.





Sticky Note

Description is basic and lacks key elements e.g. no experimental design, lack of description of measuring tool, would be hard to replicate e.g. where was the sample taken from? There is some use of appropriate terminology and reasonable structure.
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Sticky Note

Two ethical issues identified first one the right to withdraw dealt with but second ethical issue less clear on how it was dealt with e.g. giving participants a number. Both ethical issues not linked to study, there must be an explicit link to the study that was carried out. Answers given were very generic.











Write the two digit question number inside e
the boxes next to the first line of your answer Answer blank
Ysgrifennweh rif dau ddigid y cwestiwn yn y

blychau gyferbyn & llinell gyntaf eich ateb Ateb

L @)y There Wil be 0. Qufterenle L Scores on -
10, BOP-IT {0 studues wnd

Jal QLSiﬂXuL SUdONAS une dud e $ e
la wa,quﬂqw e, o o T
16O QﬂMmmvmumwsmeMﬂmﬁu i
wm DOGI xonawen b tﬁﬁ% YV Ta—
Umnmu&ﬁmbg W [
poretant had #7°0 0. 8- /1>
******** V4

j&mmmﬂmnm | dud as O fotequcnar
400N twmom J&SMY\M Wil %ng(mmw
13AMpung, WD Ve (LA Qv

LGN racmm Mg Up vy e
g oo |

mmm\m\t s o cmuagﬁ Se Uy

| OuLd fen, fepeds e Sy Lnded
ANE  NAULES fOr ),b, m;mpm it

Ke}m g oE 10§ tLL@lQJW Touwl g

Jugoe ax )
o (oo o Gt Ryotnat b
_Mmﬁw@ U Il

2 i
8702

|||||i|ii||l|l||||||




Sticky Note

Hypothesis a bit confusing (studies who studied?) therefore 1 mark.




Sticky Note

Answer just referring to the score not stating how DV was operationalised e.g. how were the BOP IT scores measured? Therefore no mark.
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Sticky Note

Description is basic and lacks key elements e.g. no experimental design, lack of description of measuring tool, would be hard to replicate. There is some use of appropriate terminology and reasonable structure.




Sticky Note

Two ethical issues identified and dealt with appropriately but not related to specific study. There must be an explicit link to the study that was carried out. Answers given were very generic.
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Sticky Note

This answer similar to the answer on the script which got 28 but was given a strong 1 while ii) was given a weak 1 some very weak implication of how BOP IT was operationalised e.g. game explained to them (the answer could quite easily have been given i) 2 and ii) 0 ).
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Sticky Note

Description is reasonably detailed and includes most of the key elements but still lacks the experimental design that was used which is an important part of the procedure.
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Sticky Note

Two ethical issues identified confidentiality and right to withdraw dealt with but only confidentiality made specific to study, right to withdraw more of a generic answer therefore awarded 3 and 2 marks.
















SECTION A - Personal investigations

You should answer all the questions in this section with reference to the personal investigations
carried out in your study of psychology.

INVESTIGATION ONE:

An experiment on bilingualism.

1. (a) (i) State the alternative/experimental hypothesis for your experiment. 2]

(i) Explain how the dependent variable was operationalised. 2]

(b) Another researcher wants to replicate your experiment. Describe the procedure they
would need to follow. [10]

(c) Identify two ethical issues you considered when planning your research and explain how
these were dealt with. [3+3]
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INVESTIGATION TWO
Case study on learning.

Outline one finding from your case study. [2]
Marks AO1
2 e Detailed outline of finding.
1 e Partial outline of finding.
0 e Inappropriate answer given.
e No response attempted.
State one conclusion from your case study. [2]
Marks AO1
2 e Detailed statement of conclusion.
1 e Partial statement of conclusion.
0 e |nappropriate answer given.
e No response attempted.
Discuss the specific issues of validity in your case study. [6]

Credit could be given for:

e Biased sample size.
e Demand characteristics.
e Lack of ecological validity.
¢ Biased interpretation.
e Historical data inaccurate.
e Social desirability bias.
e Any other appropriate material.
Marks AO3
5-6 e Thorough discussion of specific issues of validity.
o Effective use of terminology.
3-4 e Reasonable discussion of specific issues of validity.
e There is some use of appropriate terminology.
1-2 e Basic discussion of specific issues of validity.
e There is very little use of appropriate terminology.
0 e Inappropriate answer given.

No response attempted.

Total 30
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Sticky Note

Partial description of findings with one group getting best results no actual results referred to in the answer given e.g. average score in one group was etc.




Sticky Note

No general conclusion made answer just referring to findings e.g. which group scored highest with figures given which is not creditworthy. Answer needs to focus on why the technique gained a higher score.




Sticky Note

Reasonable discussion of specific issues of validity e.g. sampling issues and time of day answer given very generic and lacks a thorough discussion of the issues named. Some partial link to study therefore given 3-4 band.
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Sticky Note

Answer given is not a finding it reads more like a conclusion and seems very muddled referring to a correlation.




Sticky Note

Full conclusion given e.g. why the revision method worked because it was more enjoyable therefore full marks.
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Sticky Note

Thorough discussion of specific issues of validity three issues discussed, two clearly referring to the study. Therefore given top band.
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Sticky Note

Answer included a mix of findings and conclusions therefore only awarded 1 mark.




Sticky Note

Detailed statement of conclusion specifically the more enjoyable revision technique led to higher scores.
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Sticky Note

Thorough discussion of specific issues related to the study therefore top band but more effective use of terminology needed to gain full marks e.g. order effects is an issue with repeated measures design.

















INVESTIGATION TWO:

Case study on learning.

(@) Outline one finding from your case study. 2]
(b) State one conclusion from your case study. [2]
(c) Discuss the specific issues of validity in your case study. [6]

© WJEC CBAC Ltd. (1290U40-1)
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SECTION B
Application of research methods to novel scenarios

Answer all questions

3. A psychologist interviewed a self-selected sample of ten women on the topic of
eating disorders. It was a formal interview with the same ten open questions being
asked. The questions focused on the influence of the media on the increase of eating
disorders such as anorexia.

(a) Briefly describe how content analysis could be used to analyse the results of
this study. [2]

Credit could be given for:

e The qualitative data is analysed to look for any patterns in the answers
given, e.g. type of words used.

e The answers are all compared to see if they give any insight into what
the majority think.

e Any other appropriate material.

Marks AO1
2 o Brief description of how content analysis is used with reference
to the study.
1 o Partial description of how content analysis is used.
0 e |nappropriate answer given.
e No response attempted.

(b) Explain why the psychologist chose the self-selected sample for this study.

3]

Credit could be given for:

e Self-selected sampling allows for less ethical issues as the participant
knows what they are letting themselves in for (this topic could cause
ethical issues).

e The participant is less likely to withdraw and will have an opinion on this
topic.

e No researcher bias.

e Any other appropriate material.

Marks AO2

3 e Thorough explanation of why sampling method chosen with
reference to the study.

e Reasonable explanation of why sampling method chosen.

=N
[ ]

Basic explanation of why sampling method chosen.

0 e Inappropriate answer given.
e No response attempted.
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(c)

© WJEC CBAC Ltd.

Identify and explain two ways this research could have been improved. [2+2]

Credit could be given for:

¢ Changes to sampling method (quicker more valid method).

e Improving ethical aspects (e.g. ensuring guidelines were more strictly
adhered to).

e Change procedure for gathering data e.g. closed questions easier to
analyse.

e Any other appropriate suggestion.

Marks AQO3
2 |e Good analysis of why suggestion would improve the research.
e There is some use of appropriate terminology.
1 |e Analysis of why suggestion would improve this research is basic.
e There is very little use of appropriate terminology.
e Answer lacks clarity.
0 |e Inappropriate answer given.

No response attempted.
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Sticky Note

Not describing how content analysis is used answer given is incorrect and muddled.




Sticky Note

Basic explanation of why sampling method used (too generic must relate to study). Answer misses the point of the question e.g. the study was on a sensitive topic therefore volunteers create less ethical issues.



Sticky Note

Both ways to improve study refer to sampling but not explaining how changes would improve the study, answer also refers to improving reliability which is incorrect (answers given too generic). Answer should include how a larger sample could be collected and how systematic sample could give you a more representative sample if at all.
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Sticky Note

Not describing how content analysis is used answer given is incorrect and muddled.
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Sticky Note

Reasonable explanation given and link to study made therefore 2 marks.





Sticky Note

Both ways to improve study refer to sampling not explaining how changes would improve the study (answers given too generic). First point gets partial credit but the second point is muddled and does not make sense.
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Sticky Note

Brief description given of content analysis e.g. use of behavioural categories to produce quantitative data with reference to the study therefore full marks.




Sticky Note

Reasonable explanation given of why sampling method chosen but answer a little unclear in places with the candidate trying to explain too many points.



Sticky Note

Two ways the research could have been improved identified, answers given are not generic and go into detail about how they would have improved the research therefore full marks awarded.

















SECTION B — Application of research methods to novel scenarios

Answer all questions.

3. Apsychologist interviewed a self-selected sample of ten women on the topic of eating disorders.
It was a formal interview with the same ten open questions being asked. The questions focused
on the influence of the media on the increase of eating disorders such as anorexia.

(a) Briefly describe how content analysis could be used to analyse the results of this study.
[2]

(b) Explain why the psychologist chose the self-selected sample for this study. [3]

(c) Identify and explain two ways this research could have been improved. [2+2]
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4. Following on from this research the psychologist carried out a study to see if there
was a relationship between exposure to the media and body image.

(@) A Spearman rank order correlation coefficient test was used to analyse this
data. Explain why this was appropriate for this study. [2]

Credit could be given for:
e A correlation between two variables media and body image.
e The data is at least at the ordinal level.

Marks AO3

2 e The research method is a correlation and the data is at least at
ordinal level.

1 e Either a correlation was used or the data was at ordinal level.

0 e |nappropriate answer given.
¢ No response attempted.

(b) The statistical test gave a correlation of 0.915. Explain what this means.  [2]

Credit could be given for:
e A positive correlation was found between media and body image.
e A strong relationship was found between media and body image.

Marks AO2
2 o Detailed correct explanation given/or two partial explanations
given.
1 e One partial correct explanation given.
0 e Inappropriate answer given.
¢ No response attempted.

(© The observed value was above the critical value rs 0.61 at the 0.05 level of

significance.
State what the result tells us about the hypothesis. [2]
Marks AO3

2 e The hypothesis was supported and the likely hood of results
such as these occurring by chance is less than 5% (95%
accurate).

OR

e The hypothesis was supported and the null hypothesis was

rejected.

1 e The hypothesis is supported.
OR

e Likelihood of results occurring by chance is less than 5% (95%
accurate).
OR

e The null hypothesis was rejected.

0 e Inappropriate answer given.
No response attempted.
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Sticky Note

Correlation/relationship and ordinal level identified therefore full marks.





Sticky Note

Answer referring to statistical level e.g. 91.5% therefore incorrect.





Sticky Note

Partial answer given e.g. the hypothesis was accepted/supported therefore 1 mark.












